Cuestion 10

Calralate: the 3 test statistic in s chi-squared test for zero association, given the
following contingeney tahle,
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Chuestion 11

CHecation T8, cortdvged. Find the ST for e tegt of sero assecintion deseribed in
Chuestion 10,
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Ouestion 12

Adopting the same model for the varbation in the heaglis and weights of schioalgicls

as that describesd in Exsnple 11,8 on page 459 of the course texi, find the expected
height of somebody who weighs 48 kg,

{Iptions
.e’l... 1537 B 1.2 1357 D 1543
E 1352 F 1363 G 1540 153.8

Ouestions 13 to 18 ace based on material eovered in Chapler 12
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Cuestion 10
Assuming that serions-earthguakes worldewnle occor as a Poisson process mfams: D_L‘::i o, i_a—E—,k_{:-

and that the mean waiting time between sarthguakes iz 437 days. find (0] ehe _(E\_L
eevescdin wailing G edween cartloguakes, aod (31) the probability that there will E-' .:'E}-'ﬁ

bsix o merious carthouskes during 1997, {Choose two oplions. )
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Duestion 14

Estimate the transiion probabilities o and 5 Tor the following reslization of a
Sarkow chain. (Choose two options. )
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